WAKB PERRY BROADCASTING OF AUGUSTA 6025 BROADCAST DRIVE N. AUGUSTA, SC 29841

Client:

COMMITTEE TO ELECT JUDGE CARLETTA SIMS BROWN

Order #:

7302-00003

Description: CIVIL & MAGISTRATE COURT CHIEF JUDGE

Date Entered:

4/28/2022

P.O.#:

Salesperson:

Perry, Velvet

Invoice Frequency: Billed at end of Cal Month, Sorted by Date

ADMAX ADVERTISING 5121 WASHINGTON RD. STE. 2 #301 EVANS, GA 30809

On-Air Schedule

	Start Date	End Date	Station	Scheduled	ł Tim	a/Event	P .											
1	4/29/2022	4/29/2022	WAKB-FM	06:00:00			Repeated	<u>Length</u>	<u>Oty</u>	Rate	<u>Total</u>	M	Tu	W	Th	F	Sa	Su
2	4/29/2022				to	10:00:00	Weekly	:30	3	15.00	45.00	0	0	0	0	3	0	0
- 2		4/29/2022	WAKB-FM	10:00:00	to	15:00:00	Weekly	:30	2	18.00	36.00	0	0	0	0	2	0	0
3	4/29/2022	4/29/2022	WAKB-FM	15:00:00	to	19:00:00	Weekly	:30	2	18.00	36.00	0	0	0	0	2	0	0
4	4/30/2022	5/1/2022	WAKB-FM	10:00:00	to	15:00:00	Weekly	:30	4	20.00	80.00	0	0	0	0	0	2	2
5	4/30/2022	5/1/2022	WAKB-FM	15:00:00	to	19:00:00	Weekly	:30	4	15.00	60.00	0	0	0	0	0	2	2
6	5/2/2022	5/6/2022	WAKB-FM	06:00:00	to	10:00:00	Weekly	:30	15	15.00	225.00	3	3	3	3	3	0	0
7	5/2/2022	5/6/2022	WAKB-FM	10:00:00	to	15:00:00	Weekly	:30	10	18.00	180.00	2	2	2	2	_	-	•
8	5/2/2022	5/6/2022	WAKB-FM	15:00:00	to	19:00:00	Weekly	:30	10	18.00	180.00	2				2	0	0
9	5/7/2022	5/8/2022	WAKB-FM	10:00:00	to	15:00:00	Weekly	:30	4				2	2	2	2	0	0
10	5/7/2022	5/8/2022	WAKB-FM	15:00:00	to	19:00:00	Weekly			20.00	80.00	0	0	0	0	0	2	2
11	5/9/2022	5/13/2022	WAKB-FM	06:00:00			•	:30	2	15.00	30.00	0	0	0	O	0	1	1
12	5/9/2022	_			to	10:00:00	Weekly	:30	15	15.00	225.00	3	3	3	3	3	0	0
		5/13/2022	WAKB-FM	10:00:00	to	15:00:00	Weekly	:30	10	18.00	180.00	2	2	2	2	2	0	0
13	5/9/2022	5/13/2022	WAKB-FM	15:00:00	to	19:00:00	Weekly	:30	10	18.00	180.00	2	2	2	2	2	0	_
14	5/14/2022	5/15/2022	WAKB-FM	10:00:00	to	15:00:00	Weekly	:30	4	20.00		_	_	~	_		•	0
15	5/14/2022	5/15/2022	WAKB-FM	15:00:00	to	19:00:00	Weekly	:30			80.00	0	0	0	0	0	2	2
16	5/16/2022	5/20/2022	WAKB-FM	06:00:00		10:00:00	,		2	15.00	30.00	0	0	0	0	0	1	1
17	5/16/2022	5/20/2022	WAKB-FM				Weekly	:30	15	15.00	225.00	3	3	3	3	3	0	0
18	5/16/2022			10:00:00	to	15:00:00	Weekly	:30	10	18.00	180.00	2	2	2	2	2	0	0
	_	5/20/2022	WAKB-FM	15:00:00	to	19:00:00	Weekly	:30	10	18.00	180.00	2	2	2	2	2	0	0
19	5/21/2022	5/22/2022	WAKB-FM	10.00.00	**	45.00.00							_	_	-	-	•	U

Order Start Date: 4/29/2022

5/22/2022

5/22/2022

5/24/2022

5/24/2022

5/23/2022

WAKB-FM

WAKB-FM

WAKB-FM

WAKB-FM

WAKB-FM

20 5/21/2022

21 5/23/2022

22 5/23/2022

23 5/23/2022

Order End Date: 5/24/2022

to 15:00:00

to 19:00:00

to 10:00:00

to 15:00:00

to 19:00:00

10:00:00

15:00:00

06:00:00

10:00:00

15:00:00

Spots: 148

:30

:30

:30

:30

:30

2

2

6

4

2

20.00

15.00

15.00

18.00

18.00

Total Charges:

3 3 0 0 0 0 0

2 2 0 0 0 0 0

2 0 0 0 0 0

\$2,500.00

1

Combined Discounts:

40.00

30.00

90.00

72.00

36.00

0 0 0

0 0 0 1

\$375.00

Total Net:

\$2,125.00

- rojectea (alendar Month Billing T	otals for COMMITTEE TO ELEC	T JUDGE CARLETTA	SIMS BROWN / 7302-00	0003 :
		Spot Count	Gross Billing	Combined Disc.	<u>Net Billir</u>
April	2022	11	\$187.00	\$28.05	
May	2022	137	,	•	\$158.9
	2022	137	\$2,313.00	\$346.95	\$1,96
Total:		148	\$2,500.00	\$375.00	\$2,125.0

Weekly

Weekly

Weekly

Weekly

Weekly

Confirmed & Accepted for WAKB By:

Accepted for ADMAX ADVERTISING By:

Please Sign and Return One Copy

Printed: 4/28/2022 At 2:21:04PM

Page 2 of 2

CANDIDATE ADVERTISEMENT AGREEMENT FORM

Candidate/Authorized C	- AND	467
S. Istare.		
Name:		
Pate:		
	TO BE COMPLETED BY STA	TION ONLY
Ad submitted to Station?	Yes No. 5	
Copy - Trail	PB-19 Forms for each version of the	" .
ederal candidate certification	signed (above): Yes	
sposition:	res	No NA
Accepted		- The state of the
Accepted IN PART (e.g	., ad copy not yet received to determine sp	Onsor IDi*
Rejected - provide reas	son;	
load partially accepted form	AL	
,	, then promptly upload updated final form	when complete.
and nature of follow-ups, if	any (e.g., insufficient sponsor ID tag):	The many control of the same o
ract #:		
7302-00003	Station Call Letters:	Date Received/Regyested:
	Station Location:	128/28 / 428/27
	Ithe phylhal, GA	Run Start and End Dates:
d order, this form and invoice	e (or traffic system print and)	ments red
d order, this form and invoice is space to document schedu	ule of time purchased, when spots actually	rients reliecting this transaction to the OPIC
d order, this form and invoice is space to document schedu ased or attach separately. If s ontact person who can provice	e (or traffic system print-out) or other docur ule of time purchased, when spots actually a tation will not upload the actual times spots de that information immediately should be p	paired, the rates charged and the classes of time aired and the classes of time a aired until an invoice is generated, the name placed in the "Terms and Disclosures" folder in

CANDIDATE ADVERTISEMENT AGREEMENT FORM

Son O. I. C.	TORIAL LOKIAL
see order for proposed schedule and cha	arges. See Invoice for actual schedule and charges.
Carlotta Sime Bomin	Lead schedule and charges.
The street of th	, hereby request station time as follows:
IDENTIFY CANDIDATE TO	FEDERAL CANDIDATE
IDENTIFY CANDIDATE TYPE	FEDERAL CANDIDATE
	STATE OR LOCAL CANDIDATE
ALL OUESTIONS (D.	是一个一个一个一个一个一个一个一个一个一个一个一个一个一个一个一个一个一个一个
Candidate name:	OCKS MUST BE COMPLETED
	0
Authorized committee:	Brown
and the second committee:	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
Agency requesting time (and	O tleet Judge Carlette Shie Ring
Agency requesting time (and contact information):	ashington Rd. Ste 2 #30/ Evans GA 30809
N/A HOMare 5/2/W	ashington Pd Stan Hay Z
Candidate's political party:	301 Evans 64 30809
Democrat	
Office sought (no acronyms or abbreviations):	
Church Judge Carletta	Sins Brown
Date of election:	The same of the sa
Transport 11/1 Ay 24, 2022	General Primary
Treasurer of candidate's authorized committee:	
Carletta Dins B	noun
The undersigned represents that:	· ·
(1) the payment for the broadcast time requested has been	furnished by /chook and I alice
isced above who is a legally qualified	candidata
the authorized committee of the legally qualified car	odidate listed above.
(2) this station is authorized to announce the time as paid for	: have accept
I I I I I I I I I I I I I I I I I I I	· · ·
and other sales practices (not applicable to federal candic	lates).
THIS STATION DOES NOT DISCRIMINATE OR PERMIT DIS	CDIA 410 LATIN CONTROL OF CONTROL
THIS STATION DOES NOT DISCRIMINATE OR PERMIT DIS IN THE PLACEMENT OF ADVERTISING.	CRIMINATION ON THE BASIS OF RACE OR ETHNICITY
Candidate/Committee	
Candidate/Committee/Agency	Station Representative
Signature:	Signature:
(and is Norm	Helyel
Name: Carletta Sins Bours	Name: Value Dance
Date of Request to Purchase Ad Time: 428202	Veret terr
or request to Furchase Ad Time: 428 2022	Date of Station Agreement to Sell Time: 4/28/22
	17/28/22

The undersigned hereby certifies that the broadcast matter to be aired pursuant to this disclosion of a duration of at least four seconds and a simultaneously displayed printed statement identifies the candidate approved the broadcast and that the candidate and/or the candidate's authorized the office being sought and that the candidate has approved the broadcast. Candidate/Authorized Communications.	sure either (1) does not refer image of the candidate fying the candidate, that ed committee paid for the
Candidate/Authorized Committee/Agency	identifies the candidate,
Signature:	and the second s
Name:	
Date:	A CONTRACTOR OF THE STATE OF TH
Ad submitted to Station? Yes No Date ad received: Note: Must have separate PB-19 Forms for each version of the ad (i.e., for every ad with defeated candidate certification signed (above): Yes No No No No No No No No No N	liffering copy).
Contract #: Station Call Letters: Date Received/Required Figure 1. Est. #: Date Received/Required Figure 1. Station Location: High with Buth Graph Run Start and End Date Received/Required Figure 1. Run Start and End Date Run Start and End Date Received Figure 1. Run Start and End Date Received Figure 1.	9/78/22 ates: 24/27

CANDIDATE ADVERTISEMENT AGREEMENT FORM

See Order for proposed schedule and charges. See Invoice for actual schedule and charges.

1 - 11 - 11	es. See invoice for actual schedule and charges.
THE PROPERTY	, hereby request station time as follows:
I SANDIDATE TIFE	DERAL CANDIDATE ATE OR LOCAL CANDIDATE
ALL QUESTIONS/BLOG	CKS MUST BE COMPLETED
Candidate name:	THE RESERVE OF THE PARTY OF THE
Carletta Simis 1	Rrown
Authorized committee:	1 , 11 1
Committee to	Elect Judge Carletta Smis Brown
Agency requesting time (and contact information):	
LINA HOMAN 5121 Was	shington Rd. Ste 2 # 30/ Evans GA 30809
Candidate's political party:	301 EVANS CTH 318 07
Democrati	
Office sought (no acronyms or abbreviations):	Sins Brown
Date of election:	General Primary
May 24, 2022	
Treasurer of candidate's authorized committee:	OLUNO.
The undersigned represents that:	, , , , , , , , , , , , , , , , , , , ,
(1) the payment for the broadcast time requested has been fu	urnished by (check one box below).
the candidate listed above who is a legally qualified ca	andidate, or
the authorized committee of the legally qualified cand	lidate listed above:
(2) this station is authorized to announce the time as paid for I	by such person or entity: and
(3) this station has disclosed its political advertising policies, in	cluding applicable classes and art
candida	ites).
THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISC IN THE PLACEMENT OF ADVERTISING.	CRIMINATION ON THE BASIS OF RACE OR ETHNICITY
Candidate/Committee /A	
Candidate/Committee/Agency	Station Representative
Signature: (although Brann (Signature:
Name: Carletta Sins Byun	Name: Velyet Perr
Date of Request to Purchase Ad Time: 428 202	Date of Station Agreement to Sell Time: 4/28/22
	1 / -//

the candidate approved the	broadcast and that the candidate and/or mming, contains a personal audio stateme that the candidate has approved the broa	ed pursuant to this disclosure either (1) does not refole photograph or similar image of the candidate printed statement identifying the candidate, that the candidate's authorized committee paid for the ent by the candidate that identifies the candidate, adcast.
Signature:		
Name:	the second second	
Date:		
	alan naga	
	TO BE COMPLETED BY STA	ATION ONLY
Ad submitted to Station?	Yes Ale	
Note: Must have separate P	B-19 Forms for each version of the ad-	
ederal candidate a sis	Carlata Sims Brown	(i.e., for every ad with differing copy).
ederal candidate certification	signed (above):	No N/A
isposition:	white program is a resident and a re	
Accepted		- And Andrews Agency
Accepted IN PART (e.g.,	, ad copy not yet received to determine sp	Donsor ID)*
	, ad copy not yet received to determine sp on:	Donsor ID)*
Accepted IN PART (e.g., Rejected – provide reaso	on:	
Accepted IN PART (e.g., Rejected – provide reaso	on:	
Accepted IN PART (e.g., Rejected – provide reaso	then promptly upload updated final form	
Accepted IN PART (e.g., Rejected – provide reaso	on:	
Accepted IN PART (e.g., Rejected – provide reason poload partially accepted form, te and nature of follow-ups, if a	then promptly upload updated final form	
Accepted IN PART (e.g., Rejected – provide reason poload partially accepted form, the and nature of follow-ups, if a tract #:	then promptly upload updated final form any (e.g., insufficient sponsor ID tag): Station Call Letters:	when complete.
Accepted IN PART (e.g., Rejected – provide reason poload partially accepted form, re and nature of follow-ups, if a tract #:	then promptly upload updated final form any (e.g., insufficient sponsor ID tag): Station Call Letters: WAKB	
Accepted IN PART (e.g., Rejected – provide reason poload partially accepted form, re and nature of follow-ups, if a tract #:	then promptly upload updated final form any (e.g., insufficient sponsor ID tag): Station Call Letters: NAKA Station Location:	Date Received/Requested:
Accepted IN PART (e.g., Rejected – provide reason poload partially accepted form, the and nature of follow-ups, if a stract #:	sherical then promptly upload updated final form any (e.g., insufficient sponsor ID tag): Station Call Letters: NAKB Station Location: Grant Call Call Call Call Call Call Call Cal	when complete. Date Received/Requested: 128/22 Run Start and End Dates: 125/22 724/22
Accepted IN PART (e.g., Rejected – provide reason poload partially accepted form, the and nature of follow-ups, if a stract #: 300 – 0000 3 #: ad order, this form and invoice this space to document schedulinged or attack	Station Call Letters: Station Location: (or traffic system print-out) or other docur letters when specific and the purchased when the purchased when the purchased when the purchased when t	Date Received/Requested: / 28/2
Accepted IN PART (e.g., Rejected – provide reason poload partially accepted form, the and nature of follow-ups, if a stract #: 300 – 0000 3 #: ad order, this form and invoice this space to document schedulinged or attack	Station Call Letters: Station Location: (or traffic system print-out) or other docur letters when specific and the purchased when the purchased when the purchased when the purchased when t	Date Received/Requested: Z8/Z2 Z8/Z2 Run Start and End Dates: Z5/Z2 Z2/ZZ The complete in the control of the
Accepted IN PART (e.g., Rejected – provide reason poload partially accepted form, the and nature of follow-ups, if a stract #: 300 – 0000 3 #: ad order, this form and invoice this space to document schedulinged or attack	Station Call Letters: Station Location: (or traffic system print-out) or other docur letters when specific and the purchased when the purchased when the purchased when the purchased when t	when complete. Date Received/Requested: 128/22 Run Start and End Dates:
Accepted IN PART (e.g., Rejected – provide reason poload partially accepted form, the and nature of follow-ups, if a stract #: 300 – 0000 3 #: ad order, this form and invoice this space to document schedulinged or attack	Station Call Letters: Station Location: (or traffic system print-out) or other docur letters when specific and the purchased when the purchased when the purchased when the purchased when t	Date Received/Requested: / 28/2 2 Run Start and End Dates: / 25/ 7 2 ments reflecting this transaction to the OBUS
Accepted IN PART (e.g., Rejected – provide reason poload partially accepted form, the and nature of follow-ups, if a stract #: 300 – 0000 3 #: ad order, this form and invoice this space to document schedulinged or attack	Station Call Letters: Station Location: (or traffic system print-out) or other docur letters when specific and the purchased when the purchased when the purchased when the purchased when t	Date Received/Requested: / 28/2 2 Run Start and End Dates: / 25/ 7 2 ments reflecting this transaction to the OBUS